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>> t=0:1/100:6-1/100; %0 00O 1/200 OO 6 O
% 1/100 O O0D0ODO0DODO0OO0DO0Oo0o0Oo0
>> y=sin(2 *pi *15*t)+sin(2  *pi *40*t); % 15Hz 0 40Hz DO OO OO

>> f=fft(y); %y O0OQO@OoO)O fit Oy 0000
>> f(10) %f(10) DOOODO
ans =
7.7991e-013 +1.5264e-013i % 000000000
>> s=abs(f); %O0ODOoOoOoOo0oaDo
>> plot(s)
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>> z=5+3i

Z =
5.0000 + 3.0000i
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>> find(s >0.01)
ans =
91 241 361 511
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>> a=[1 2 3 4 5];

>> a==1
ans =
1 0 0 0 0
>> a>3
ans =
0 0 0 1 1
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>> find(a==1)

ans =
1

>> find(a >3)

ans =
4 5

OO0000DOfind(s>0.01) OOOOOODODOOL, 241, 361, 511 0000000O0OCOO0ODOCOOOOO

O0o0o00o0b0O xO00o0O00oOoO0o0ooOo00oobOO000DbOoO00DObO000O00 100HzO000060000
O000000O000O0O00OOoeoOn 100HzOOODOOOOOO10000O100/600=1/6Hz000000
MATLABOOOOOOOO 1000000000000000O0O0O(91—-1)/6=15Hz00(241—1)/6 = 40Hz
oooooobooooooo

gbobooofft0ooobooboboboboooooboobooooboobobOobobobobooooon
oboooooooo

00 23 000 s0O s(1) OO s(301) DO0O00O0ODOODOOO0ODODOxOOOODODO x0OD0000x0O0O
000 HzOOOODOODOOO

fftJ000o00oo0obobooooobooooboobooooobooboooogon

>> plot(abs(fft(y,599)))
>> plot(abs(fft(y,598)))
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>> w=hann(600);
>> plot(w)
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>> c=[1 5 4];
> d=[2 3 1];
>> c. +d

ans =
2 15 4
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